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Myopenmath	answer	key	precalculus

Sample:	F	(x)	=	x	3	g	(x)	=	x¢'5	f	(x)	=	x	3	g	(x)	=	x¢'5	29.	15.	F	(g	(x))	=	x	2	+3	+	2,	g	(f	(x))	=	x	+	4	x	+7	f	(g	(x))	=	x	2	+3	+	2,	g	(f	(x)	)	=	x	+	4	x	+7	15.	f	(x)	=	Ã¢	'(x	+	1)	2	+2	f	(x)	=	Ã¢'	(x	+	1)	2	+2	45.	The	G	g	graph	is	a	horizontal	reflexiÃ	³	across	the	y	axis	and	a	vertical	stretch	by	a	factor	of	3	of	the	f	graph.	F	Ã¢'1	(x)	=	(2	Ã	​'x)	2;
DOMARAFFOFF:	[0,	Ã¢Å□);	DOMARIOF	F	Ã	​'1	:(	Ã	​'Ã¢Å	Å,	2]	F	Ã¢'1	(	x)	=	(2	Â°)	2;	DOMARAFFOFF:	[0,	Ã¢Å□);	DOMARIOF	F	Ã	​'1	:(	Ã	​'Ã¢Å□,	2]	9.	Ã¢	"Text	(GÃ¢~f)	(x)	=	Ã¢	'3	2Ã	​'4x;	(GÃ¢~f)	(x)	=	Ã¢'	3	2Ã	​'4x;	''	(Ã	​'Ã¢Å□,	1	2)	('	Ã¢Å□,	1	2)	23.	Possible	response:	g	(x)	=	4+	x	2	g	(x)	=	4+	x	2	h	(x)	=	4	3Ã	​'xh	(x)	=	4	3Ã	​'xf	=	hÃ¢~gf	=	hÃ¢~g	1.5
Transformation	of	functions	1.	71.	69.	Domain:	[Ã	​'4,	Ã	​	4],	[Ã	​'4,	Ã¢	4],	range:	[0,	2]	[	0,	2]	31.	F	(g	(0))	=	1	5,	g	(f	(0))	=	5	f	(g	(0))	=	1	5,	g	(f	(0))	=	5	77.	A	(t)	=	Ã​2	(25	t	+	2)	2	A	(t)	=	Ã​2	(25	T	+	2)	2	and	A	(2)	=	Ã​2	(25	4)	2	=	2500Ã​a	(2)	=	Ã​2	(25	4)	2	=	255	0Ãâ	​Square	inches	95.	F	(x)	=	1	xÃ¢'2.	(Ã	​'Ã¢Å□,	Ã​'2)	Ã¢ª	(Ã	​'2,6)	Ã¢ª	(6,	Ã¢Å□)	(Ã​'Ã¢Å□,	Ã
​'2)	Ã¢ª	(Ã	​'2,6)	Ã¢ª	(6,	Ã¢Å□)	23.	(FÃ¢~g)	(fÃ¢~g)	(6)	=	6	(fÃ¢~g)	(6)	=	6;	(GÃ¢~f)	(6)	=	6	(gÃ¢~f)	(6)	=	6	89.	|	X	+	4	|	=	1	2	|	x	+4	|	=	1	2	9.	FÃ¢~g	=	GÃ¢~f.	(Ã	​'Ã¢Å,	Ã	​'11)	Ã¢ª	(Ã	​'11,2)	Ã¢ª	(2,	Ã	​	Å□)	(Ã	​'Ã¢Å,	Ã	​'11)	Ã¢ª	(Ã	​'11,2)	Ã¢ª	(2,	Ã¢Å□)	19.	If	no	horizontal	line	crosses	the	function	grÃ	¢	Ã	¢	n	mÃ	that	once,	then	no	y-valu	Es	repeticiÃÃ	¢	n
and	the	function	is	one	to	one.	decreasing	by	[0,	Ã¢Å□)	[0,	Ã¢Å□)	25.	g	(x)	=	1	(x	+	4)	2	+2	g	(x)	=	1	(x	+	4)	2	+2	11.	Graph	each	fÃ	³	formula	of	the	functionÃ	³	n	in	parts	on	its	corresponding	domain.	The	graph	of	function	³	n	F	(x)	=	x	3	f	(x)	=	x	3	is	compressed	vertically	by	a	factor	of	1	2.	A	horizontal	compression	³	occurs	when	a	constant	greater
than	1	is	multiplied	by	the	input.	f	(x)	=	0	f	(x)	=	0	when	x	=	Ã¢'5	x	=	Ã	​'5	and	x	=	1	x	=	1,	so	the	graph	intersects	the	horizontal	axis	in	(Ã¢'5,0)	(Ã	​	'5,0)	and	(1,0).	It's	not	a	function³	so	neither	is	it	a	function	of	one	to	one	59.	29.	Transformation	is	a	horizontal	change.	21.	45.	Sample:	F	(x)	=	x	3	f	(x)	=	x	x	G	(x)	=	1	xÃ	¢	2	g	(x)	=	1	xÃ	¢	2	41.	49.	{11	5,
29	5}	{11	5,	29	5}	19.	f	(x)	=	(X-2)	2	F	(x)	=	(X-2)	2	39.	Function,	but	not	one	by	one	67.	twenty-one	.	(Ã	¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	(1.1,	Ã	Ã	Ã	¥	|	Â	¥	¥)	25.	So	FÃ	¢	Â	»G	=	GÃ	¢	Â»	f.	53.	f	(60)	=	50.	Domain:	[Ã	¢	Â	|3,	Ã	¢	â)	Â	|	Â	|);	[Ã	¢	Â	|	№	||	â)	Â	|	Range:	[0,	Ã	¢	â)	Â	|	Â	|)	39.	If	the	resulting	function	is	the	same	as	the	original	function,	f	(Ã	¢
Â'x)	=	f	(x),	f	(Ã	¢	Â'x)	=	F	(x),	then	the	function	is	pair.	eleven	.	Â	«AÂ»	=	b.	69.	F.	Window:	[Ã	¢	0.5,	Ã	¢	0.1];	[Ã	¢	0.5,	Ã	¢	0.1];	Interval:	[4,100]	[4,100]	Window:	[0.1.0.5];	[0.1.0.5];	Interval:	[4,100]	[4,100]	59.	75	5	.	The	G	G	graph	is	a	vertical	stretch	by	a	factor	of	4	of	the	graph	of	F.	79.	Four	.	G	(F	(2))	=	G	(5)	=	3	G	(F	(2))	=	G	(5)	=	3	6.	t	(180)	=
180	50.	«F	(G	(x))	=	X	F	(G	(X))	=	X	and	G	(F	(X))	=	X.	Â	«(0.2)	Â«	A	(2,	Â	«);	(0.2)	«A	(2,	Â«	Â	«);	Â	«,	Â»	2)	Â	«A	(2,	Â»	Â	»;	c.	«The	height	of	a	rocket	on	the	ground	after	2	seconds	is	350	feet.	«Yes,	the	letter	degree	depends	on	the	percentage	degree;	Â	€	œNo,	is	not	one	by	one.	$	2.84Â	»$	2.	31	5	years	=	$	0.53	5	years	=	$	0.106	$	2.84	to	$	2,31	5
years	=	$	0.53	5	years	=	$	0.106	to	year.	f	(60)	=	50.	Sample:	F	(x)	=	x	F	(x)	=	x	g	(x)	=	2x	+	6	g	(x)	=	2x	+	6	37.	17.	[0,	Ã	¢	¥).	(F	+	G)	(x)	=	2x	+	6,	(F	+	G)	(x)	=	2x	+	6,	Domain:	(Ã	ì	ì	ì	ì	ì	ì	ì	Ã	ã	Ã	Ã	¢	Ì	ì)	(FÃ	¢	ìg)	(x)	=	2	x	2	+	2xÃ	¢	6,	(FÃ	¢	ìg)	(x)	=	2	x	2	+2	XÃ	ì6,	Domain:	(Ã	Ì	ì	ì	ì	ì	ì	ì	ì	ì	ì)	(Ã	ì	ì	ì	ì	ì	ì)	(FG)	(x)	=	ì	ì	x	4	ì2	x	3	+6	x	2	+	12x,	(FG)	(x)	=	ì	x
4	ì2	x	3	+6	x	2	+	12x,	domain:	(Ã	ì	ì	ì	ì	ì	ì	Ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	â	â	â	â	â	â	â	â	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	ì	™	|)	(Ã	¢	â	™	|	Â	™	|,	Ã	¢	â	™	|)	(FG)	(x)	=	x	2	+	2x	6Ã	¢	™	|	x	2,	(FG)	(x)	=	x	2	+	2x	6	¢	â	™	|	x	2,	Domain:	(Ã	¢	™	|,	Ã	¢	â	™	|	6)	Â	™	|a	(Ã	¢	™	|	6,	6)	Â	™	|a	(6,	Ã	¢	™	|)	(Ã	¢	Â	™	|	«6)	Â«	A	(6,	6)	Â	«A	(6,	Â«)	7	A
function	is	F	(x)	=	1	xÃ	¢	â'2.	53.	(FG)	(x)	=	f	(x)	g	(x)	=	(xÃ	ì1)	(x	2	Ã	¢	ì1)	=	x	3	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	ìIn	+	1	(FÃ	¢	ìg)	(x)	=	F	(x)	Ã	¢	ìg	(x)	=	(xÃ	¢	ì1)	ì	(x	2	Ã	¢	ì1)	=	x	2	(fg)	x)	=	f	(x)	g	(x)	=	(xÃ	¢	ì1)	(x	2	ã	¢1)	=	x	3	Ã	¢	ì	²²	ã	²	²	²	²	x	2	Ã	¢	ìx	+	1	(FÃ	¢	ì	g)	(x)	=	f	(x)	Ã	¢	ìg	(x)	=	(xÃ	¢	ì1)	Ã	¢	ì	(x	2	Ã	¢	ì1)	x
2	No,	the	functions	are	not	the	same.	same.	.	34	2Â​Â​Ã¢|3+x|=)x(f	2Â​Â​Ã¢|3+x|=)x(f	.	74	.	36	|	3Â​Â​Ã¢x	|=)x(f	|	3Â​Â​Ã¢x	|=)x(f	.	96	1+	2	)5-x(	2	1	=)x(g	1+	2	)5-x(	2	1	=)x(g	.)5,1Â​Â​Ã¢(	no	gnisaerced	dna	)Â​Â​Ã¢,5(ÂªÂ​Ã¢)1Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢(	)Â​Â​Ã¢,5(ÂªÂ​Ã¢)1Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢(	no	gnisaercni	si	noitcnuf	ehT	.	74	.	57	49Â​Â​Ã¢=)	)0(f	(g,72=))0(g(f	49Â​Â​Ã¢=)
)0(f	(g,72=))0(g(f	.	37	)	3,	3	5	Â​Â​Ã¢	(	)	3,	3	5	Â​Â​Ã¢	(	.	5	)	Â​Â​Ã¢,	2	5	Â​Â​Ã¢	[	)	Â​Â​Ã¢,	2	5	Â​Â​Ã¢	[	.	77	.)Â​Â​Ã¢,1(	.	2	snoitcnuF	eulaV	etulosbA	6.1	x	3	1	=)x(g	x	3	1	=)x(g	teg	ew	noitcnuf	toor	erauqs	eht	gnisu	os	)	x	3	1	(f=)x(g	)	x	3	1	(f=)x(g	.	12	)1,5.2Â​Â​Ã¢(	)1,5.2Â​Â​Ã¢(	no	gnisaerced	,)	Â​Â​Ã¢,1	(ÂªÂ​Ã¢)	5.2Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢	(	,)	Â​Â​Ã¢,1	(ÂªÂ​Ã¢)
5.2Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢	(	no	gnisaercni	.noitauqe	eht	fo	)s(noitulos	eht	gnidnif	yb	stniop	yradnuob	eht	enimreted	tsriF	.setunim	07	ekat	lliw	ti	,selim	06	levart	oT	.	73	)Â​Â​Ã¢,3(	)Â​Â​Ã¢,3(	no	gnisaercni	,)3,Â​Â​Ã¢Â​Â​Ã¢(	,)3,Â​Â​Ã¢Â​Â​Ã¢(	no	gnisaerced	,)22Â​Â​Ã¢,3(	,)22Â​Â​Ã¢,3(	ta	muminim	lacoL	.tuptuo	eht	morf	detcartbus	ro	ot	dedda	si	tnatsnoc	a	nehw	stluser
stfihs	lacitrev	A	.sriap	deredro	fo	tes	a	si	noitaler	A	.	3	.	56	.	35	.B=|A|	mrof	eht	fo	si	noitauqe	eht	taht	os	mret	eulav	etulosba	eht	etalosI	.	73	]	6,	6	1	[ÂªÂ​Ã¢]	6	1	Â​Â​Ã¢,6Â​Â​Ã¢	[	]	6,	6	1	[ÂªÂ​Ã¢]	6	1	Â​Â​Ã¢,6Â​Â​Ã¢	[	:egnar	;]	6,	6	1	[ÂªÂ​Ã¢]	6	1	Â​Â​Ã¢,6Â​Â​Ã¢	[	;]	6,	6	1	[ÂªÂ​Ã¢]	6	1	Â​Â​Ã¢,6Â​Â​Ã¢	[	:niamod	.	34	41	31	9	6	3	)x(	1Â​Â​Ã¢	f	)x(	1Â​Â​Ã¢	f	61	21	7	4	1	x	x
.sey	Â​Â​Ã¢	sey	Â​Â​Ã¢	.)08Â​Â​Ã¢,5(	.ddo	si	noitcnuf	lanigiro	eht	neht	,)x(fÂ​Â​Ã¢=)xÂ​Â​Ã¢(f	,)x(fÂ​Â​Ã¢=)xÂ​Â​Ã¢(f	,noitcnuf	lanigiro	eht	fo	etisoppo	eht	si	noitcnuf	gnitluser	eht	fI	.	55	2=x	2=x	ro	2Â​Â​Ã¢=x,3Â​Â​Ã¢=)x(f	2Â​Â​Ã¢=x,3Â​Â​Ã¢=)x(f	Â​Â​Ã¢;1=)0(f	;1=)0(f	Â​Â​Ã¢	.	92	)	9.0Â​Â​Ã¢,1.1	(	)	9.0Â​Â​Ã¢,1.1	(	.	54	)Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢(	)Â​Â​Ã¢,Â​Â​Ã¢Â​Â​Ã¢(	:niamod	.	76
3Â​Â​Ã¢	2	)2+x(	3	1	=)x(g	3Â​Â​Ã¢	2	)2+x(	3	1	=)x(g	.	13	.	19	.	58	]01Â	Ã​,0[	]01Â	Ã​,0[	.tset	enil	latnoziroh	eht	ssap	ton	seod	ti	esuaceb	,oN	.	11	0	51	21	9	)x(g	)x(g	8	6	4	2	x	x	.srewsna	ynaM	.	5	.	35	6=t	6=t	Â​Â​Ã¢	;8=)3Â​Â​Ã¢(f	;8=)3Â​Â​Ã¢(f	Â​Â​Ã¢	;t	3	2	Â​Â​Ã¢6=)t(f	;t	3	2	Â​Â​Ã¢6=)t(f	Â​Â​Ã¢	.	7	.	1	snoitcnuF	fo	noitisopmoC	4.1	2	11Â​Â​Ã¢x	Â​Â​Ã¢=)x(	1Â​Â​Ã¢	f	2
11Â​Â​Ã¢x	Â​Â​Ã¢=)x(	1Â​Â​Ã¢	1	2)	Ã	¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	ÃÍª	For	one	to	prevent	the	function	from	having	an	intersection	and	and.	The	function	moves	to	the
left	by	2	units.	The	G	G	graph	is	a	vertical	reflection	(through	the	X	axis)	of	the	graph	of	f.	F	(G	(1)	=	F	(3)	=	3	F	(G	(1))	=	F	(3)	=	3	andg	(F	(4))	=	G	(1)	=	3	g	(F	(4))	=	G	(1)	=	3	4.	When	dealing	with	the	set	of	real	numbers,	it	can	not	take	the	square	root	of	the	negative	numbers.	57.	Indicate	inclusive	endpoints	with	a	solid	circle	and	exclusive
endpoints	with	an	open	circle.	F	Ã	¢	'1	(x)	=	5	9	(XÃ	¢	'32).	Ã	Ã	Ã	Ã	"3	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	(G	(X))	=	2	(3xÃ	¢	'5)	2	+1;	F	(g	(x))	=	2	(3xÃ	¢	'5)	2	+1;	"G	(F)	(x))	=	6	x	2	Ã	,'2,	g	(F)	(x))	=	6	x	2	Ã,2;"	"(GÃ	~	G)	(x)	=	3	(	3xÃ	¢	'5)	Ã	,'5	=	9xÃ	¢	'20;	(GÃ	~	G)	(X)	=	3	(3xÃ	¢'	5)	Ã	,'5	=	9xÃ	™,	""	(FÃ	~	F)	(Ã	¢	'2)	=	163	(FÃ	~	f)	(Ã	,'2)	=	163	13.	[Ã,4.0)	Ã	¢	Ã	Ã	Ã	Ã
(0,	Ã	¢	Å¾)	[Ã,4.0)	Ã	¢	ãª	(0,	Ã	¢	Å¾)	7.	X	=	4.	(0.1).	F	Ã	¢	'1	(60)	=	70.	Using	the	PP	variable	to	pass,	|	PÃ	¢	'80	|	Ã	¢	â	€	Â	€	œ20	|	)	(11)	=	11	(FÃ	~	G)	(11)	=	11,	(GÃ	~	F)	(11)	=	11	93.	Local	minimum	in	(Ã	,'2,	Ã,2),	(Ã,	'	2,	Ã,2),	decreasing	in	(Ã,3,	Ã,2),	(Ã	¢	'3,	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	(Ã,',	Ã	¢	Å¾)	(Ã,	'	2,	Ã	¢	Å¾)	39.	If	any	horizontal	line	crosses	the	graph
of	a	function	more	at	once,	that	means	that	the	values	​​of	Y	and	the	function	and	the	function	are	not	one	by	one.	Ã	¢	"G	(5000)	=	50;	G	(5000)	=	50;	""	The	number	of	cubic	dirt	yards	required	for	a	100-square-foot	garden	is	1.	Yes.	Range:	[0.20]	[0.20]	55.	Given	the	temperature	Fahrenheit,	X,	X,	this	formula	allows	you	to	calculate	the	temperature	of
celsius.	When	a	vertical	line	intersects	the	graph	of	a	relative	more	than	once,	indicating	that	for	that	entry	there	are	more	than	one	output.	F	Ã	¢	'1	(x)	=	Ã,2x	XÃ	¢'	1	F	Ã	¢	'1	(x)	=	Ã,2x	XÃ	¢'	1	13.	1.1	Functions	and	notation	of	functions	1.	Each	output	of	a	function	must	Have	exactly	an	exit	so	that	the	function	is	one	by	one.	(1.0).	There	is	no	en	x	x
para	f	(x)	=	x	3	f	(x)	=	x	x	because	you	can	take	the	cube	root	of	any	real	number.	1	.	41	.	domain:	(£¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢	Form	a	second
equation	by	setting	A	equal	to	the	opposite	of	the	expression	on	the	other	side	of	the	equation,	Ã¢Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â​Â	36	f	(Ã¢Â​2)	=4;	f	(0)	=4,732;	f	(1)	=5;	f	(2)	=5,236	73	.	Â”f	(x)	=Â”f	(x)	g	(x)	=Â”f	(x)	x	x	-2	0	2	4	g	(x)	g	(x)	â​¦	20	Ã¢	â​¦	h	(x)	=f	(Ã¢	â​¦x)	h
(x)	=f	(Ã¢	â​¦x)	x	x	x	-2	0	2	4	h	(x)	h	(x)	15	10	5	unknown	7	.	local	maximum:	(Ã¢	â​¦	3.50),	(Ã¢	â​¦	3.50),	local	minimum:	(3,Ã¢	â​¦50)	(3,Ã¢	â​¦50)	25	.	When	a	horizontal	line	intersects	the	graph	of	a	function	more	than	once,	it	indicates	that	for	that	output	there	is	more	than	one	input.	The	height	of	a	rocket	above	the	ground	after	1	second	is	200	feet.	Use
the	limit	points	to	form	possible	solution	intervals.	A	function	is	a	special	type	of	relationship	in	which	no	two	ordered	pairs	have	the	same	first	coordinate.	So	the	domain	is	made	up	of	all	real	numbers,	(Ã¢Â¦Ã¢Â¦Â¦,Ã¢Â¦Â¦).	{	5	2	,	7	2	}	{	5	2	,	7	2	}	23	.	fÂ¦1	(x)	=	x-1	fÂ¦1	(x)	=	x-1	77	.	Â”Yes,	because	each	bank	account	has	a	single	balance	at	a	given
timeÂ”No,	because	several	bank	account	numbers	may	have	the	same	balanceÂ”No,	because	the	same	output	may	correspond	to	more	than	one	entry.	g	(x)	=	Ì​	3	g	(x)	=	Ì​	x	Ì​	3	9	.	f	(g	(h	(x)))	=	(1	x+3)	2	+1	f	(g	(h	(x)))	=	(1	x+3)	2	+1	21	.	There	are	100	different	percentage	numbers	that	we	could	get,	but	only	about	five	possible	degrees	of	letter,	so
there	can’t	be	just	one	percentage	number	that	corresponds	to	each	degree	of	letter.	f	(Ã¢3)	=Ã¢Â​27;	f	(2)	=Ã¢Â​2;	f	(2)	=Ã¢Â​2;	f	(2)	=Ã¢Â​Â	2;	f	(Ã¢a)	=Ã¢Â​2	to	2	Ã¢Â​3a;	f	(Ã¢a)	=Ã¢Â​2	to	2	Ã¢3a;	Â¦f	(a)	=2	to	2	Â¦3a;	Â¦f	(a)	=2	to	2	Â¦3a;	f	(a+h)	=	Â¦2	to	2	+3aÃ¢Â4a+3hÃ¢2	h	2	f	(a+h)	=	Â¢	Ì¤2	to	2	7	.f	(g(x))	=	x+1	x	3	3	=	x+1	3	x	x	x	3	+1	x	f	(g	(x))
=	x+1	x	3	3	=	x+1	3	x	,g	(f	(x))	=	x	3	+1	x	17	.	78	.	Swap	the	x	x	and	y.	(fẪg)	(x)	=	1	2	x	+4Ã¢	4	=	x	2	,	(gÃ¢	f)	(x)	=2xÃ¢	4	(f)	=	2	x	+4Ã¢,	(gÃ¢	f)	(x)	=2	x	4Ã¢)	Given	a	function	y=f	(x),	y=	f	(x),	solve	x	x	in	terms	of	y.	f¢	ÂÀ	1	(x)	=	5	9	(xÃ¢	32	Â​).	Ã¢	Â​	N	(T	(t))	=23	(5t+1.5)	2	Ã¢	56	(5t+1.5)	+1;	N	(T	(t))	=23	(5t+1.5)	2	to	56	(5t+1.5)	+1;	Â​	Â​	3.38	hours
1	.	The	graph	of	f	(x)	=	x	f	(x)	=	x	is	moved	4	units	to	the	right	and	then	reflected	through	the	vertical	line	x=4.	f	(Ã¢	ÂÀ	1)	=Ã¢	Â	̈	4;	f	(0)	=6;	f	(2)	=20;	f	(4)	=34	f	(Ã¢	ÂÀ	1)	=Ã¢	Â		4;	f	(0)	=6;	f	(2)	=20;	f	(4)	=34	51	.	(f+g)	(x)	=3	x	2	+	xÃ¢	ÂÀ	5	,	(f+g)	(x)	=3	x	2	+	xÃ¢	ÂÀ	5	,	domain:	[5,ÂÀ	Â¢¢)	(fÂÀ	g)	(x)	=3	x	2	Ã¢	[5,Ã¢	Â¢¢)	[5,Ã¢	Â¢¢)	(fg)	(x)	=3	x	2
x	Â¢	5,	(fg)	(x)	=3	x	2	x	Â¢	5,	domain:	[5,	Â¢	Â¢¢)	[5,	Â¢	Â¢¢)	(f	g)	(x)	=	3	x	2	x	Â¢	5,	(f	g)	(x)	=	3	x	2	x	Â¢	5,	domain:	(5,	Â¢¢¢)	(5,Â¢¢)	11.	27	.	The	domain	of	a	function	depends	on	what	values	of	the	independent	variable	make	the	function	indefinite	or	imaginary.	Yes,	the	average	rate	of	change	of	all	linear	functions	is	constant.	80	kilometers	are
covered	in	60	minutes.	If	the	function	is	not	the	same	or	the	opposite,	then	the	function	is	neither	odd	nor	even.	(fÂÀ	g)	(x)	=17Ã¢	ÂÀ	18x;	(gÃ¢	f)	(x)	=Â¢	7Ã¢	9	.	Then	f	(g	(x))	=f	(xÃ¢	Â¢	1)	=	(xÃ¢	Â¢	1)	+1=x	f	(g	(x))	=f	(xÃ¢	Â¢	1)	=	(xÃ¢	1)	+1=x	y	g	(f	(x))	=g	(x+1)	=	(x+1)	Ã¢.	59	.	f	(Ã¢	1)	=Ã¢	5Â​;	f	(0)	=3;	f	(2)	=3;	f	(4)	=16	f	(Ã¢	Â¤	1)	=Ã¢	5;	f	(0)
=3;	f	(2)	=3;	f	(4)	=16	53	.	(fÃ¢	g)	(x)	=	1	x	,x>0	(fÃ¢	g)	(x)	=	1	x	,x>0	43	.	The	expression	for	y	is	the	inverse,	y=	f	Ã¢	1	(x).	f	(x)	=x+1	yÃ	̈	g	(x)	=xÃ¢	1.	f	(x)	=Ã¢	3|	xÃ¢	3	|+3	f	(x)	=Ã¢	3|	xÃ¢	3	|+	3	67	.	[0,100]	[0,100]	79	.	A	horizontal	offset	occurs	when	a	constant	is	added	or	subtracted	from	the	input.	51	.	(Note:	If	two	players	had	been	tied,	say,	in
4th	place,	then	the	name	would	not	have	been	a	rank	feature.)	6.	3.	The	function	is	sample:	f(x)=	x	f(x)=	x	g(x)=	2xÃ¢	Â	1	3x+4	g(x)=	2xÃ¢	Â	1	3x+4	73	.	|f(x)Ã¢	Â	8|
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